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He wraps a hollow belt around it — RT73I2 19y T

OVERVIEW

The opinion of >"7 concerning a rope that tore, is that one may wrap a X719 around
it (on v"1™ Naw) to fasten the two loose ends of the rope, however he should not
make a bow with it. Seemingly this would indicate that he should not make a bow
with the X7119 (but only wrap it around). M50 negates this view.

Generally the prohibition against tying (two) things on N2¥ or 210 21 is when it is a
permanent ‘knot’, however if it is a temporary knot it is permitted.
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It does not necessarily mean that he may only wrap the X711 around the %an, for
he is even permitted to tie the X719 around the 2an (with a knot), since he is not
subordinating the X719 to the an; he intends eventually to remove the 'x7a19.

mMooIn anticipates and resolves a difficulty:
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And when the Xn>72 states; ‘provided that he will not make a bow, that is not
referring to the wrapping the X719 (for concerning the X711 he may even tie a knot
with it around the %2m), but rather the prohibition of 121y> X5W is referring to the

rope; he should not attempt to make a bow with the two cut ends of the rope.’

SUMMARY
According to "9, one is permitted to tie the X729 (with a knot) around the torn 92r;
however one is prohibited from making a bow with the two ends of the %an.

THINKING IT OVER
If it is permitted to ‘knot’ the X711 around the 9an, why does the Xn*92 merely
write 7712 and not WpP?!

! He needs the X719 (it is his belt); it is therefore not considered a &»»p 5w wp (a permanent knot).

2 If it was referring to the X719 it would contradict what Mmoo just stated that it is permitted even to tie the XTI
(with a ‘knot’; let alone with a ‘bow’).

? He intends for this bow to remain (he has no reason to untie it) therefore it is a Xn>°p Hw Wwp.
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